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1. RAEE ufedt § U TREHR % T H WTE

BN 9ren o, fFrefafaa § @ 9w 27
(a) WreRmEH

(b) Hifsrm

(c) Hfcqam

(d) Wffirm

2. T & Ja-qEn & g ¥, fefdfes § @

HH-81 a0 Ao g 27
(a) dieREH
(b) <REm
(c) wfafsam
(d) fsem

3. frfafaa # & wH-8 T4, Sa § gow aneia

Torerem =T ®7

(@) T STEATRES
(b) AT

(c) TRENH

(d) TTEgSH

4. R IR § TR & 51 % forg, Fefoad

H ¥ ®H-91 7 Aar 77
(@) Ffcwam

(b) e

(c) Ffiftem

(@) deREm
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5. FfdRaa vamafes afifea ® faer Hifsm :

aFe,0, (s) + bCO(g) — cFe (s) + dCO,

Iugw i % dqfera temERE afmo §
FA: a, b, ¢ IR d TR H AH,
Frafafea & & ®WF-|1 dm?

(@ 3,2,3,1
() 1,3,2,3
¢ 2,3,3,1
@ 3,3,2,1

6. T AYd dos A TR AR b WI-HIY ATH T4

F1 TG I St BY

(@) w6 Y e F forg

(b) Torga = @Ud FA A % ferg
(c) IcafSia FerTel I T s9H & forg
(d) <9 6 F9q FH W@ F o

7. *fem aoum (1) iR IfceTE A (t) %

= wdl day, frefafiaa § @ #9-w 27
(@) A < aA A9 Shd &

(b) T=t.

(€ T=t,-273-15

(d T=t.+273-15

8. wfi a0 fFrafafaa § @ fred | S & TR

wehRdl 87

(@) &1 @1 g3 Al H AR

(b) T H T g Afd H dfen (TEh)

(c) T H @1 g3 Hid H Trew

(@) Tata & v gen awel 1 Wrae IRy



1. Which one of the following elements is

used as a timekeeper in atomic clocks?
(a) Potassium

(b) Caesium

5. Consider the following chemical

reaction :

aFe 03 (s) + bCO(g) — cFe(s) + dCO,

In the balanced chemical equation of

the above, which of the following will be
(c) Calcium the values of the coefficients a, b, ¢ and

(d) Magnesium d respectively?

(@) 3,2, 3,1

2. Which one of the following elements is ) 1,3,2,3
involved in the control of water content ¢ 2;3,:3;1

of the blood? @ 3,321

(a) Potassium
6. Why is argon gas used along with

(b) Lithium tungsten wire in an electric bulb?

(¢) Rubidium (a) To increase the life of the bulb
(d) Caesium (bp) To reduce the consumption of
electricity

(c) To make the emitted light colored
3. Which one of the following gases

dissolves in water to give acidic (d) To reduce the cost of the bulb

solution?

7. Which one of the following is the correct
relation between the Kelvin temperature
(T) and the Celsius temperature (t;)?

(a) Carbon dioxide

(b) Oxygen
(a) These are two independent

(c) Nitrogen temperature scales

(d) Hydrogen (b) T=t.
(g T=t.-273-15
4. Which one of the following elements is (@ T=t.+273-15

essential for the formation of chlorophyll
in green plants? 8. Sound waves cannot travel through a
(a) Calcium (a) copper wire placed in air
@) Tron (b) silver slab placed in air
(c) glass prism placed in water
(c) Magnesium ) )
(d) wooden hollow pipe placed in
(d) Potassium vacuum
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9. TF W& % 7H, Frefofaa A @ sv-wre?r - fdw:

(@ 107 cm Frefafaa | (7) T § @ FU9 §, FH 1 R
T FY 11. T TH1 HYHT BT FEHHIgEH T HINY 3R
107 om H19 fw e Fe F M W TR IW IR
fc) 107% cm
=) %:
(d) 107 cm (@) ST HUT -3 TE § SR H 11,
HYA 1 1 TE) TEHT §

10. Fr=fafad weFi W fem $ifvm (b) A FA E-Em W §, TR
1. T fie, s 9gem § }, W 1 J2 ool HYF 11, HF 1 1 el TER TE @
& B 2 (c) F¥ 19 7, Fhg FoF 11 Ted @

. Toreh e =1 9am e Wit @ R (d) 17T @, Tohrg HoA 11 98 @
3. et fie 1 wifost ool e wxfdra et
21 12. ¥ 1 :
foreht e i ftreh Haifereh
g ol 34 /A i ;‘“"mjﬁﬁ i
(@ 1,23R3 ST
(b) I 2 3R 3 WAFRE 1 Y, W 99 @
(© Fa 1R 2 (W)%ﬁmﬁﬂmﬁ@tﬁa%%ﬁmﬁ
AR B 3 91 R 7 B wehell B
(d) Fad 1
13. YA 1 :
11. G& WF H wEyunen Hefaiea 7 9 foa/ AuHida fogd, 7 A f @ 4 o=l
for W R Bt B7 (aftues) e ¥ s 1
1. oW % R 9E w1 :
2. U & THENS TNE Sy :Hda fredt & faor (Rdvwand), wEsm
3. g 1 gREm 3R 9fiy % IeAW (IFFA) F FAFEAR T S
4. U % ST gIE 2l
= few T e 1 F@E W T W gRw) 14, F1:
@ 1,2, 334 Temre-2fE! % 7w fafie w9 ¥ gur wae
! Teiid i B
(b) a1, 2 3R 3
hYq 11 :
(c) e 3 3N 4 frdt feoe-3ofi & WUR wWag, THEHE
(d) Fad 4 femmda T9ET & HRU 397 B () B
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9. Which one of the following is the value of

one nanometer?

(@ 1077 cm
(b) 107® cm
() 107 cm
(d 1072 cm

10. Consider the following statements :

1. There is no net moment on a body
which is in equilibrium.

2. The momentum of a body is always
conserved.

3. The kinetic energy of an object is

always conserved.

Which of the statements given above
is/are correct?

(@) 1, 2 and 3
(b) 2 and 3 only
(c) 1 and 2 only
(d) 1 only

11. Working of safety fuses depends upon

magnetic effect of the current
chemical effect of the current

magnitude of the current

-l ol =

heating effect of the current

Select the correct answer using the code
given below.

(@ 1,2, 3 and 4
(b) 1, 2 and 3 only
(c) 3 and 4 only
(d) 4 only
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Directions :

The following seven (7) items consist of two

statements,

Statement I and Statement II.

Examine these two statements carefully and

select
below.

12.

13.

14,

the correct answer using the code given

Code :

(a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I

(c) Statement I is true but Statement II
is false

(d) Statement I is false but Statement II
is true

Statement I :

By far the most common topographic
form in a Karst terrain is the sinkhole.

Statement II :

Topographically, a sinkhole is a
depression that varies in depth from
less than a meter to few hundred
meters.

Statement I :

Incised meanders are formed in the
mature stage of a river.

Statement II :
Incised meanders are characterized by
rejuvenation and upliftment of land.

Statement I :

Portions of glacial troughs may exhibit
remarkably flat floors.

Statement II :

The flat floor in a glacial trough is
produced by uniform glacial erosion.

[ P.T.O.



15.

16.

17.

18.

YA :

331 Serarg # 9 fafauar smaea w9 21
F I :

3 Ay W SHATCHR W1 EfERd H
Bl 2

RYq I :

SIR-9E] Y5 % TR H SAR-9GE §, S
<51 3R G gRT T Y Tyl 59 3R
geeff % Ui % TIH THTE F RO BT B

hYq 11 :

ge, uft F gd it IR TaR I R

$hYA 1 :

T AfF & 4 difsd & whar € e 97
fig-91E It TIH W IR ST 2 |

HYAII ¢

Bl a1 GiEA & HR B a1 F AW
| & & sfam Hea g

SRYA 1 :
e e (gt R-wA) B W1 urgad

3R digHAIREl (FlemThi) % Tgd g SHE
F1 gfshan 1 9 =9 Fad B

HYA 11 :

qrarE 1 91 Tsfadl § 36 ae F wiEe
# gam #, fiewnReE B AEa (SEE)
3fer T TS 2|
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19. wfior i Sfa-fagm dedt wefa % gER,
Frafafad § & #R-4 & e wodd 27

(a) & HS
(b) St
(c) HeAfGN
(d) 3% HHA

20. TRt #, Frafafas & @ fFe TR & d@9sh
Faeh! § a9 wufed B 27

(@) ST

(b) FHFGIETEE (SUEEAY)

(c) HRAETRE (reeT)
(d) RFIAEEE (STfeTy)

21. /9P, S 9o H HEEdl Al 8, B 9N F
Frafafaa 3 & #9-11 3W wd gafaa & 27

(@) FAR o RISEH (F)
(b) Tofiftem o fafern (wemm)
(c) = ;U
(d) VR AE-ug

22, F=fdfad o @ fora wifRE e @ aEEm
ECLIR S

(@) F5F

(b) SRl STl
(c) TSt ™
(d) TEEEE



15.

16.

17.

18.

Statement I :

In Tundra climate, biodiversity is
comparatively less.

Statement II :

Tundra climate has less reproductive
warm period.

Statement I :
Tides are the rise and fall of sea levels
caused by the combined effects of the
gravitational forces exerted by the
Moon and the Sun and the rotation of
the Earth.

Statement II :
The Earth rotates from west to east.

Statement I :
A person may suffer from tuberculosis
if she/he frequently visits crowded
place.

Statement II :
Bacteria of tuberculosis spread
through droplets by sneezing or
coughing.

Statement I :

Bioaccumulation is a process of
progressive accumulation of heavy
metals and pesticides in an organism.

Statement II :

Large fishes of the pond are found to
have higher concentration of pesticides
than planktons of the same pond.
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19. Which one of the following is a true

fish as per the biological system of
classification?

(a) Silverfish
(b) Jellyfish
(c) Cuttlefish

(d) Flying fish

20. In which one of the following types of

connective tissues in animals does fat
get stored?

(a) Adipocyte
(b) Chondrocyte
(c) Osteocyte

(d) Reticulocyte

21. Which one of the following pairs about

organ/part that helps in locomotion is
not correctly matched?

(a) Euglena Flagellum
(b) Paramecium : Cilia

(c) Nereis Pseudopodia
(d) Starfish Tubefeet

22. Lysosome is formed from which of the

following cell organelles?
(a) Nucleus

(b) Endoplasmic reticulum
(c) Golgi bodies

(d) Ribosomes

[ P.T.O.



23. sl ol aTEg UM H WA

gvauy Bar ® iR w® FaRRe % fiad
TgelTehize T 1 AR Alea B 31 @ a1
A T TgE o g [l wd el fargh
Topert @l @ et T Bem?

(@ 2
(b) 3
(c) 4

(d 5

24. f=fafad & ¥ fFa o |, 9gFed § TG

a9 aREdd g 87

(@) Tagu (feeem) iR ifiEe
(b) |E I TH FEAT

(c) T FH TER AR Fred

(@) “FFed 3w AR fafeo & e
K CHIC|

25, T ) FHEA-HerM e % forg, Fefeiad

H @ FH-9 79 27

(@) =T, Sit e w8 R foeia =&
T ¢

(b) <Ted, S fedieor T | R fraria
g

(c) @ TFR F de

(d) TEH-HATE 79
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26. WA % T=fafad § 4 fra wm A, e &

INF I=H APHSAR q g R S
87

(@) SEETR
(b) TE
(c) =%
(d) TaEr

27. G-I ® TH-1 F Ty gafea HN TR

o o w p»

it % = Ry 1Y F2 w1 = HOEE W
e :

-1 -1

(oo /o) (srferares)
. TRT9] TR 1. ®R
. A g e 2. JwRE
. y-fiEfos vdaem fagi@ 3. e&f
. Tomadf weEg i afepe 4. Shzd
Fe
(@ A B D

2 4 1 3

() A B C D
0 AN B C D
2

d A B C D



23. A protein is synthesized in the
endoplasmic reticulum bound
ribosomes and it targets to the inner
thylakoid space of chloroplast. How
many double-layered membrane layers
it has to pass to reach its destination?
(@) 2
(b) 3
(c) 4

d 5

24. Which of the following causes adiabatic
temperature changes in atmosphere?

(a) Deflection and advection
(b) Latent heat of condensation

(c) Expansion and compression of
the air

(d) Partial absorption of solar radiation
by the atmosphere

25. Which one of the following is applicable
to collision-coalescence. process of
precipitation?

(@) Clouds which do not extend beyond
the freezing level

(b) Clouds which extend beyond the
freezing level

(c) All types of clouds

(d) Cirrocumulus cloud
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26. Which one of the following places of
India experiences highest atmospheric
pressure during winter?

(a) Jaisalmer
(b) Leh

(c) Chennai

({d) Guwahati

27. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-II
(Hypothesis/ Theory) (Propounder)
Planetesimal hypothesis 1. Kober
B. Thermal contraction 2. Chamberlin
theory
C. Geosynclinal Orogen 3. Daly
theory
D. Hypothesis of sliding 4. Jeffreys
continent
Code :
(@) A B C D
2 4 1 3
(b) A B C D
2 1 4 3
(c) A B C D
3 1 4 2
(d A B C D
3 4 1 2
[ P.T.O.
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28. BRI & FAINH ¥ THhI THE H e

@ 91 8| FrEfafad #§ 4 e sesf g 6
Iqfefd & HRU I8 =9 Bl &7

(@) 3ATH
(b) SHH
(c) TR
(@) @i

29. f=faRad § @ #F-d foxwar, s e &

& Bt 27
(@) GFA, =X (Radeia) B 21

(b) A % wft FU (W) Fad ThH THER
% B 2

(c) TfEE & o # Qq T A AfE T
B Bl

(d) am= Ao faftE @ fe % gt
% gug & o T ek R

30. F=fafaa # @ o5 el & =ro st 3§ srarh

FHIRal Bl &7
MgSO0,
Hr= fow 10 F2 w1 W = w5 W g

(@) 334

ol

(b)) 233
(c 134
(d 13R2
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31. 3R Ffcm &1 w-wHAE 20 ¥ AR zHA

SHAHA-GEA1 40 ®, @ Frfafaa § & $-w
a, Wi 1 aRIRe T gm?

(@) =% 7w, o 20 el ik 18 =g &
(b) & T, e 18 Wil 3R 19 =g &
(c) =&, frad 20 MeH 3R 19 =g &
(d) € a, el 18 MeH 3R 22 =g &

2. ‘T Tl = oo gfe’ = wew, fefafag &

Y fored Fref e 27
(@) T Hger 1 Rigid
(b) T 1 e

(c) Feritafa =1 g
(d) o 1 frgid

33. dfd & o g A wifeas AR A Tl wHA E

WAfF Teat TR I e, T ar B B A
et }1 Ugd 9R 1 Wiekiy R ) IR 91 aid
1 THAY A0 F I S B, @ T gy
fopamn gm?

(@)
(b)

N
s

x

(c)

X

(@)

Plw Pl N

34. GIE A1 VW % O & @S S 5 I e

2, @ 78 AfemTg Tdtd B ¥ 39 STEwE
% fou fomier gfteen ?

(@) TS T WEd
(b) T H YA
(c) TR T Fehiolq
(d) v F1 e ()




28. Bright light is found to emit 31. Which one of the following elements will

from photographer’s flashgun. This be an isobar of calcium if the atomic

brightness is due to the presence of number of calcium is 20 and its mass

which one of the following noble gases? number is 407?

(@) Argon (@) Element with 20 protons and
18 neutrons

(b) Xenon (b) Element with 18 protons and

(c) Neon 19 neutrons

' (c) Element with 20 protons and
(d) Helium 19 neutrons
(d) Element with 18 protons and

29. Which one of the following is not a 22 neutrons

characteristic of a compound? 32. Which of the following represents a

(@) Composition is variable. relation for ‘heat lost = heat gained’?
(a) Principle of thermal equilibrium
(b) Principle of colors

(c) Principle of calorimetry
(c) Particles of compound have two or (d)

more elements.

(b) All particles of compound are of
only one type.

Principle of vaporization

33. Two metallic wires made from copper
have same length but the radius of
wire 1 is half of that of wire 2. The

(d) 1Its constituents cannot be
separated by simple physical

methods. resistance of wire 1 is R. If both the
wires are joined together in series, the
30. Which of the following substances cause total resistance becomes
temporary hardness in water? (a) 2R
R
1. Mg(HCO3), A
2. Ca(HcCoO
FCOs)2 © >R
3. CaCl, 4
3
4. MgS0, (d) 0
Select the correct answer using the code 34. When the Sun is near the horizon during
given below. the morning or evening, it appears
reddish. The phenomenon that is
(@) 3 and 4 responsible for this observation is
(b) 2 and 3 (a) reflection of light
(b) refraction of light
() 1 and 4 . . .
(c) dispersion of light
(d) 1 and 2 (d) scattering of light
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35. G-I & w11 F Wiy gafem AR IR

gl & H fiw T g w1 TE W gl W
EULE
-1 HE-11
(ameer) (faferemm)
A. &y (Rrw) 1. 3ui <3 amen
B. W (W) 2. U@ % 99 &9
C. awimyg (Frem) 3. AR &9 § =g4 aren
D. Hudt (Fgem) 4. fafes & giae fesn &
Herar gam
e :
@ A B C D
3 1 4 2
() A B C D
2 ¥ 4" s
el A& B+ € D
2 "4 "1 '3
@@ A B C D
3 4 1 2

36. TafRtte =7fds &3 (EEZ) W Heftd ad gl

TF 3 AR, afafea § @ $9-a T
77

(@ "EErRE fFad % e gweE w
Fa&o 3R <A

(b) TR A Fo R AeH-TRU (ATERT)
Hftd @ et 1 <A

(c) THE TEEA 1 W AR FeEH

(d) SR H AEeE R aEgd anl
(hferer) =1 Tenfua foren (fsrsmn) S0
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37. 9Rd #, T % FEfafaa # ¥ 5w wge 4,

T TH fAw % w9 § whigd adm e
a9 (ICZM) URESHT 1 FEifed foram s
w87

(@) TSWE, A AR M

(b) A, FAlH N Y YT
(c) TSRIE, 3fifeem 3R ufim s
(d) WERIE, MY TN IR qfFeHTg

38. UPH S 3HRHT (NWA) & &R ¥, Fr=fefaa

HYA H q FH-91/8 Gqd B/2?

1. NWA & Wufs 3I, 9 GaEd
Frim % fafim wegel = s ok 1=
TS % IR AREae & fau yidem
% TF I H5 5 7§ HE HAT 8|

2. NWA 7 fogii 3 féa 21

R fou g e & W@ = '@ 3w gy
(@ Fad 1

(b) HIA 2

(c) 1 3R 2

(d Fd@1RIH2

39. dd % F R, Fwdh @ErE 1 ¢ v ek

HITY TREBT F AR A 7, # ¥ fogg ww
I vaTEd & W@’ AR A &9 8 W ke PR
Ife g1 wAM fameti aren v Ygiifm @1 ar
Ad & iR T A wH g wenfed w@ E,
&4 g8 wih el

(@) P

(b) <P

(c) >P

(d) 2P



35. Match List-1 with List-II and select the

o o w >

correct answer using the code given
below the Lists :

List-1 List-II
(Cloud) (Characteristic)
Cirrus 1. Rain-giving

Stratus Feathery appearance

2
Nimbus 3. Vertically growing
4

Cumulus Horizontally spreading
Code :
(@ A B C D
3 1 4 2
(b) A B C D
2 1 4 3
(c) A B C D
2 4 1 3
(@ A B C D
3 4 1 2

36. Which one of the following is not an

exclusive right of the concerned coastal
nations over Exclusive Economic Zone
(EEZ)?

(a) Survey and exploitation of mineral
resources of ocean deposits

(b) Exploitation of marine water energy
and marine organisms including
fishing

(c) Conservation and management of
marine resources

(d) Navigation of ships and laying
down submarine cables
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In which one of the following groups of
States in India is the Integrated Coastal
Zone Management (ICZM) Project being
implemented as a pilot investment?

(a) Gujarat, Kerala and Goa

(b) Kerala, Karnataka and Andhra
Pradesh '

(c) Gujarat, Odisha and West Bengal

(d) Maharashtra, Andhra Pradesh and
Tamil Nadu

38. Which of the following statements about

the National Water Academy (NWA)
is/are correct?

1. The primary objective of the NWA is
to function as Centre of Excellence
in training for in-service engineers
from Central and State organiza-
tions on various aspects of water
resource planning.

2. The NWA is located in New Delhi.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

39. A wire of copper having length [ and

area of cross-section A is taken and a
current [ is flown through it. The power
dissipated in the wire is P. If we take
an aluminium wire having same
dimensions and pass the same current
through it, the power dissipated will be

(@ P

(b) <P
(c) >P
(d 2P

[ P.T.O.



40. et 59 %1 3@, TS A F WY P = P, +pgh

% &9 & yfafda € 8, Sl p 39 59 &1 9
R 98 o Tohad gefta 27

(@) dTEwA 1w
(b) &A= FrEm
(c) =ich 1 fergra
(d) TiHEES # g

41. IgFsd H Fefafea dues W w| R

HifT
1. 3
2. fi=m
3. eifem
4, A SRAFEES

A i wfwraa & feae & I W ow
e o s, FraferRaa 3 @ FR-an 27

(a) 1-3-2-4
(b) 1-4-2-3
(c) 4-2-3-1

(d 2-4-1-3

42. A & F=fafea & 9 e o~ 8, sadht 39

AR § AggEa STl Y SETE
it sifteRad 27

(@) TosrH
(b) ATAS
(c) WET™

(d) IFTEA YW

SPSS-D-XHI/49A

14

43. ffafes 4 & frw wda & afedd SoramE

& 1Y A 87
(@) TR
(b) TR

(c) T
(@) e

44, HEW, S 9, e, gae, Ree R Mamm

(3u) = W frag @, § Foafafes § 9
T waer 6 @dt TE i S R?

(@) FHR

(b) ¥EH
(c) @R
(@ famse

45. 7 & F = vEEs aked | fomr fifsw

S ARG w1 @ @ W f AR w1 o
a1, Trforfad & @ -1 87

(@ 3-4-1-2
(b) 2-1-3-4
(c) 2-3-1-4

(d) 1-2-4-3




40. The pressure of a fluid varies with

depth h as P =P, +pgh, where p is
the fluid density. This expression is
associated with

(a) Pascal’s law

(b) Newton’s law

(c) Bernoulli’s principle

(d) Archimedes’ principle

41. Consider the following constituent gases

of the atmosphere :

1. Argon

2. Neon

3. Helium

4. Carbon dioxide

Which one of the following is the correct
ascending sequence of the above gases
in terms of the volume percentage?

(@ 1-3-2-4
(b) 1-4-2-3
€ 4-2-3-1

(d) 2-4-1-3

42. Which one of the following Indian States

has the highest percentage of Scheduled
Tribe population to its total population?

() Mizoram
(b) Nagaland
(c) Meghalaya

(d) Arunachal Pradesh
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Extrusive volcanoes are not found in
which one of the following mountains?

(a) Alaska
(b) Rocky
(c) Andes

(d) Himalayas

44. Which one of the following crops is not

cultivated in Karewas, the lacustrine
deposits of sand, clay, loam, silt and
boulders?

(a) Saffron
(b) Almond
(c) Walnut

(d) Ling nut

45. Consider the following tributaries of river

Ganga :

1. Gandak
2. Kosi

3. Ghaghara
4

Gomti

Which one of the following is the correct
order of the above rivers from east to
west?

(@ 3-4-1-2
(b) 2-1-3-4
) 2-3-1-4

(d 1-2-4-3

[P.T.O.



46. WG % Frfdfad § @ #+9-8 W @ W 48. v % sR ¥, fF=fafan § @ *F-w wm

(WM 9rh), UNESCO 3m1 f¥w fmma g 27

(R =ity fopg e &7

1. ¥Ry T8E TH (@) <, FREFA T ¥ T F G F FRO
2. GaH TEHE A Tl R

3. TS TER e (b) = F T PREE, W 5 RBC,
4. WYER T IAH A E)

e fow g e 1 e W wd Sw ghe) e, e e e A0
(a) Fad 1 3R 2 $ St 2

() Had 1, 2 3R 3 )
(0 ¥E3 4 (d) I, Fad BEA B o S H FE

| HA B
(@d 1,2 334

47. -1 B AT S g gafw Hif sl 49. TIPR ¥ frefifas § & fra/Re gt /gat &

gﬁq'%ﬁﬂ%ﬁumwwmwww P gea g 37
(@) T 3R IFF
A1 Heft-11
(= w= /H=e) (FEaTe™) (b) TR IR Ty
A. W AH 1. Typeuere (c) e wlga
B. 3@ 2. VSR
C. ufém nen 3. TRE@R & %
D. gf&w qey 4. TATRETE
w2 50. o9 g I FiguRwE #, fEfafad 4 @
Toreer == | T on STt 27
@ A B C D
AR . A (@) AfFeH v
) A B C D
0 A B C D
1 2 3 4 (c) TEEfeh A
d A B C D
1 3 2 4 (d) THE
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46. Which of the following National Parks of 48. Which one of the following statements

India are declared as World Heritage by about lymph is correct?
UNESCO?
1. Keoladeo National Park (a) Lymph is formed due to leakage of

Sundarbans National Park blood thraugh capillanes.

(b) Lymph contains blood cells such

2
3. Kaziranga National Park
4, Ranthambore National Park as RBC.

Select the correct answer using the code

ghven Bl (¢) Lymph is also circulated by the

blood circulating heart.

(@) 1 and 2 only

d) Lymph only transports hormones.
(b) 1, 2 and 3 only (d) Lymp y

(c) 3 and 4 only

(@ 1,2, 3 and 4 49. Which of the following classes of animals
has/have three-chambered heart?
47. Match List-I with List-II and select the

correct answer using the code given (a) Pisces and Amphibia
below the Lists :

List-I List-II (b) Amphibia and Reptilia
(Railway Zone) (Headquarters)
(c) Reptilia only

A. North Central 1. Secunderabad

B. North Eastern 2. Jabalpur (d) Amphibia only
C. West Central 3. Gorakhpur

D. South Central 4. Allahabad

50. Accumulation of which one of the
Code : following in the muscles of sprinters
leads to cramp?

(@ A B C D

4 3 2 1 _ .

(a) Lactic acid

(b) A B C D

4 2 3 1 () Ethanol
(c) A B C D

1 2 3 4 (c) Pyruvic acid
(d A B C D

1 3 2 4 (d) Glucose
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51. fafma =i fify (BTF) % IR #, fefafea

FYA § A BH-|1 G TE 27
(a) I8 TH T0F Ge&T 2|
(b) TEH feA-R ed SeadT @l B

) PEIE %8 W AN gaw A EH
LS T I s A B 0 [ R | L=
e Tl 2

(d) ETF % fau sus faw ufwufy geg,
T feam 6 g W w IR giefaa
AR

52. T¥E UvM wumelt (NPS), fsh &3 % sfarfa

NPS, ¥ g1 #I ftrran oy ffafea § @
HH-H 37

(@ 559
() 60 a4
(c) 6538
(d) 70T

53. WRa fed 9% Y T @ § geee 9@

G (PCR) R % ITRHA FHied (T&h
BIH) 1 e TR R 1 97 Fried, R % fag
T UREH, AUe 3R F-ardfes-g9d
PCR fo&fa + & ot w wes 9wk
(Tre #u) %1 g 1 F fw ) 3w F
@ & :

(@) R HoiH
(b) Torman g
(c) W FHARAT
(d) Mo THo Zeeret
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54. WRd WWHR 7 EH & &9 H ABTEH I

111 fifemm @ 7 Ry S0 & o\ a) &

gareh Ted @9 A N | TE TES IR
2017 ¥ AWM A7 | 98 &S fohd T
T TR Y

(@) M
(b) IRETH
(c) aRIfeREa

(@) ==

55. Fafafan oAl § ¥ FH-w/8 9RdE T

YTAH 5% (IPPB) % =R & @81 8/%7

1. W @ o fofiRe so i @@
e femen ma 1

2. THH FHE < U wrEied, deEr 3R
IRV, Y TYEAT F Y JARA |
Bl

ﬁ%ﬁqm%mmwwwgﬁm
(@ ¥ 1

(b) Fae 2

(c) 1 3R 2

(d Td@1IMAE2



51. Which one of the following statements 54. In October 2017, India sent its first

about Exchange-Traded Fund (ETF) is shipment of wheat to Afghanistan as
not correct? a part of commitment made by

the Government of India to supply
(@) 1t is a marketable security. 1'1 million tonnes of wheat to that

country on grant basis. The shipment

(b) 1t experiences price changes was sent through

throughout the day.

(c) It typically has lower daily liquidity (a) Iran
and higher fees than mutual fund
shares. (b) Pakistan
(d) An ETF does not have its net asset
value calculated once at the end of (c) Tajikistan
every day.
(d) China

52. Which one of the following is the
maximum age of joining National

Pension System (NPS) under the NPS- 55. Which of the following statements about
Private Sector? the India Post Payments Bank (IPPB)
is/are correct?
(a) 55 years
1. It has been incorporated as a
(b) 60 years Public Limited Company.
(c) 65 years

2. It started its operation by
(d) 70 years establishing two pilot branches at
Hyderabad and Varanasi.

53. The Reserve Bank of India has recently
constituted a high-level task force on
Public Credit Registry (PCR) to suggest a
road map for developing a transparent,
comprehensive and near-real-time PCR
for India. The task force is headed by (a)

Select the correct answer using the code
given below.

1 only

(a) Sekar Karnam

v (b) 2 only
(b) Vishakha Mulye
B
(c) Sriram Kalyanaraman (¢ Both 1 and 2

(d) Y. M. Deosthalee (d) Neither 1 nor 2
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56. T¥¥ HAMGYHR AEM  (NHRC) & &H

Frafafes # @ -9 87
1. TFa AR ¥ g |, AW @ H
I8 | Si9-9gdrd 1

2. Wit W WF W4 W AH F
YR W SA=-USdTed HEAT

3. ¥ Hi T W I & fu St =
HHU AT

4, HME AHRI % &F 7 Wy H S am
3R Ty 1 FredTed

= few ¢ 2 F W W wE W gh

(@) Faa 1 3R 2

(b)) Fad 2, 3 3R 4

(c) %ad 1, 3 3R 4

(d 1,2, 334

57. T Ak GOe & el ofi ¥e4 &1 9o 31 &

fore ofr we@ & wq # P 90 F g s
B 7, AR 97 AlE

1. ¥Rd ¥R Agdl ol T899 @SR+
FER T F HE g U fRY gU A,
HEe Uty g Oifa et w2 ¥ une
! 3T T ST TH N B

. g feafern @

3. WRd % dfaum $ gud gy F iard
AR IFET TR

4, faftm femm aren & o wam
AT 51 3 U1 Aifa o e @

= e g gz w1 W W w9 W YR

(@ %ad 1, 2 3R 4

(b)) 1,2, 334

(c) w3 IR 4

(d) %ad 1, 2 3R 3
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58. WA fHafe @M & IR, & T T

F T H A BN T uH UeEifae g @
forem Tl AT USG9 % w9 A
BT STa9TH &7

(@ F9-8-F7 T TN
(b) FH-Y-FH fF T
(c) FH-Y-FH IR T

(d) FH-V-HF U T

59. U FRwA fafies % gaw #, Ffafad

FHYAl 7 QA HH-A1 T RY

(@) I8 enfies ifa @ gadq faswm H
FaaTRs wE §1

(b) T® are fawm & ywmafe fEma %
a1 )

(c) T8 WA T YRER Hedv B &
gyt fgmer % a9 2

(d) & fagm w@ dafEh faam f o
HreETRe T B

60. Td Hid HeR ¥ Heidd Bai &1 v Tt

H ¥ form/fm oo /atqusi & ke mn 27
1. &5/ JEIOE are

2.  HAR FYIECA TSR Tl

3. a7fe 7y Gifes

e fow e g2 1w =W E W g
(@ Haa 1 3R 2

() 1,23R3

(c) Had 2 3R 3

(d) Fad 3



56. Which of the following are the functions

of the National Human
Commission (NHRC)?

1. Inquiry at its own initiative on the
violation of human rights

Rights

2. Inquiry on a petition presented to it
by a victim

3. Visit to jails to study the condition
of the inmates

4, Undertaking and promoting
research in the field of human
rights

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2, 3 and 4 only
(c) 1, 3 and 4 only
(d 1,2, 3 and 4

57. A person is disqualified for being chosen

as, and for being, a Member of either
House of the Parliament if the person

1. holds any office of profit under the
Government of India or the
Government of any State other than
an office declared by the Parliament
by law not to disqualify its holder

2. is an undischarged insolvent

is so disqualified under the Tenth
Schedule of the Constitution of
India

4. is of unsound mind and stands so
declared by a competent Court

Select the correct answer using the code
given below.

(@) 1, 2 and 4 only
(b) 1,2, 3 and 4
(c) 3 and 4 only
(d) 1, 2 and 3 only
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According to the Election Commission of

India, in order to be recognized as a
‘National Party’, a political party must
be treated as a recognized political party
in how many States?

(a) At least two States
(b) At least three States
(c) At least four States
(d) At least five States

59. Which one of the following statements

with regard to Antrix Corporation
Limited is correct?

(@) 1t is a commercial arm of the
Department of Industrial Policy and
Promotion.

(bp) It is under the administrative
control of the Department of Space.

() It is under the administrative
control of the Ministry of Health
and Family Welfare.

(d) It is a commercial arm of the
Department of Science and
Technology.

60. Verses ascribed to poet-saint Kabir have

been compiled in which of the following

traditions?

1. Bijak in Varanasi
2. Kabir Granthavali in Rajasthan
3. Adi Granth Sahib

Select the correct answer using the code
given below.

(@) 1 and 2 only
(bp) 1, 2 and 3
(c) 2 and 3 only
(d) 3 only

[P.T.O.



61. SREdl ¥ & AH-H, FEAHS g % fafim
e & gft foafel &1 w9-fuior sms
BT, S Wehe el B

1. 7% R firsg % g fRer 9w

2. Y geee A affew  smenfas
ENICK]

3. W R AR Ao wie SR s
1 TR

= fow T %2 1w W w3 ghTy

(@) FId 1 3R 2

(b) FaA 2

(c) Fad 1R 3

(d 1,2 3R3

62. FaET & 104 Hed A, Ffafad # @ FH-w
T foame-aaRIEl W T STerdr &7

(@) T4
(b) J &
(c) 7 &g
(@) 3o g7
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63. THEN AEIeH & 9R ¥, Frefeiad wuE § |
FH-71/Q w230

1. HAicH & framl i e qriied) sgh
Tafsrean @)

2. WEM 3R HeRwy ¥ R-smewr fHm-sfadl
#i 9rfiert saht fafdwar @)

3. 79H, TS IR HEE S W A s
am i % w9 § 3@ fafed foen
=T o | {

4. 1922 # wHER 3 T - '
A H W ARIEH | gU INE U, '
s s’ s g 3@ IRem #
HAd g8 TR W T @R w1 folg
Topa )

T g e % w1 wEm =W T W gh

(@ Fad 1

() 1,23 4

(c) 233

(d) Fad 2

64. 9K 2017 ¥ 15 g # mafom fawme @@
FHHT ‘ae8 gE few’ W Fm-fg (Br)
2w, Fr=fafaq & | SF-w a?
(@ <
(b) UM

(c) T
(d) weh

22




61. Around twelfth century, Sufi Silsilas
began to crystallize in different parts of
the Islamic world to signify

1. continuous Ilink between the
master and disciple

2. unbroken spiritual genealogy to the
Prophet Muhammad

3. the transmission of spiritual power
and blessings to devotees

Select the correct answer using the code

given below.

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d 1,2 and 3

62. In the 10th Mandala of the Rigveda,
which one of the following hymns
reflects upon the marriage ceremonies?

(a) Surya Sukta

(b) Purusha Sukta

() Dana Stutis

(d) Urna Sutra
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63. Which of the following statements about
the Non-Cooperation Movement is/are
correct?

1. It was marked by significant
participation of peasants from
Karnataka.

2. It was marked by non-Brahmin
lower caste participation in Madras
and Maharashtra.

3. It was marked by the lack of labour
unrest in places like Assam, Bengal
and Madras.

4, It was badly shaken by the Chauri
Chaura incident in 1922 after
which Gandhiji decided to continue
with the movement on a much
smaller scale.

Select the correct answer using the code
given below.

(a) 1 only
() 1,2 and 4
(c) 2 and 3

(d) 2 only

64. Which one of the following was a focus
country of the World Food India’, a
mega food event held in November 2017
in New Delhi?

() Germany
(b) Japan
(c) Denmark

(d) Ttaly

[ P.T.O.



65. AT WEW FEA—uRd 2018 (fem wwwEh

Sfigd) weuidt Y deerE, fefaRea § @
FI-HT TG HUT?

(@) TSR
(b) TSREH
(c) pic|

(d) T TR

66. TIR WA 3 T & § ‘Geeaia wnl aeer

TH ¥ el 9= % U ww wd wrd (3
sfe) omgfn FrRiEn &1 guRy fw &) @
IS 1 Ievd foraeh fredr ) sgran 31 7
(@) @&

(b) Teme-vmem

(c) iia

(@) <= fesmgtm

67. 9Rd % fi=fafea & & form iR 3, wieples

forma wam ¥ fw ‘goERl (UNESCO)
R Al oEe 3% ARe, 2017 S
?7

(@) HTHEA AR, TaTERl

(b) i TrnTET Hfe, ot

(c) Iﬁ?’l&ﬁﬁﬁ(,ﬂ?

(d) FERAY Ui, HERAY
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68. fr=fefaa & 4 frw 9w 1 9ra A ‘wlten &i:h

TR 4, 2017’ % faqe sHiad ¥
qferd fem?

(@) STIH

(b) A

(c) f&or sifen
(d) TfeREaH

69. 9Rd & ay #, fafaRed wuEt § @ s9-w

uel & 77

(@) YRA & U@ 12 &2 SeUME 3R @9
200 B2 SR 8|

(b) ¥RA < YA (™FGA) # 95 wiwra
R 4T § 68 Wi AR g g
el B

(c) ¥Rd H FYE T-@I AT 7500 km
I

(d) 995" HE#9, 2010-2020 #H, =
2020 % flT 300 MT 9o+ &Hdl &l T
&g @1 T B

70. Tr=fafaa weEt 3§ @ S9-w w8 78 27

(@) ¥Rd MTCR # 2016 # wmfia g1

(b) ¥RG A NSG I gewar & feiw 2016 #
T Ui Ee fean

(c) 9RA 3 1996 H IWITH 3ddhar W
ATYF A (Fa3H) 1 T&ad oo

(d) TEHSA <= & Y@ H TEHE 3
(CHOGM), #real § 2016 ¥ §5 |




65. Which one of the following States will
host the Nobel Prize Series—India 2018
(Science Impacts Life) Exhibition?

(@) Gujarat
(b) Rajasthan

(c) Goa

(d) Madhya Pradesh

66. The Ministry of Communication has
recently launched a Pan India
scholarship programme for school-
children called ‘Deen Dayal SPARSH
Yojana’. The objective of the scheme is
to increase the reach of

(a) sports
(b) philately
(c) music

(d) web designing

67. Which one of the following temples of

India has won the UNESCO Asia Pacific
Award of Merit, 2017’ for cultural
heritage conservation?

(a) Kamakhya Temple, Guwahati

(b) Sri Ranganathaswami Temple,
Srirangam

(c) Meenakshi Temple, Madurai

(d) Kedarnath Temple, Kedarnath

SPSS-D-XHI/49A

68. Which one of the following teams was

defeated by India to win the Women’s
Hockey Asia Cup title, 2017?

(a) Japan
(b) China
(c) South Korea

(d) Pakistan

69. Which one of the following statements

about India is not correct?

(a) India has 12 major ports and about
200 non-major ports.

(b) 95 percent of India’s trade by
volume and 68 percent by value are
moved through maritime transport.

(c) India has a coastline of about
7500 km.

(d) In the Maritime Agenda,
2010-2020, a target of 300 MT port
capacity has been set for the
year 2020.

70. Which one of the following statements is

not correct?
(a) India joined MTCR in 2016.

(b) India submitted a formal
application for membership of the
NSG in 2016. '

(c) India proposed the Comprehensive
Convention on International
Terrorism in 1996.

(d) The Commonwealth Heads of
Government Meeting (CHOGM) was
held in 2016 at Malta.

[ P.T.O.



71. A & Gfayuw % F=faRea 3§ § fra g &

Tz fafgq formn mn @ % AfuRwg, e
AYe T F Fum w0 & T f 3@
& % 15 wfowrd & e 7€ Bfi?

(@) 91af gene=
(b) 8741 WY
(c) 97al GmeA

(d) 90af Ty

72. WRAE q0EH H e & ar §, Frefafaa §

¥ HH-H1/4 9 /37

1. 39d2 & I WIUeR, WRdE
T 1 diar T}

2. W WA R wgd @ % A smeE
ST ST ATTE T ©

3. T Saas § ol e

f g e e w1 W@ AR w W gh)
(q) Fad 1 3R 3

(b)) 1,233

(c) Faa 1 3R 2

(d) *aa 3
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73. WRG &l gy Tl g8 R aeETtE g

(995 YA WHUUTE), S eI Sthrhfeyd
IR fowfa @ qn R fafim (3g) wiewml
(390 WH) ¥ @ S W wwa ®,
Frafafea § @ SF-4 27

(@ 3=
(b) ATH
(c) Tvdg

(d) @R

74. TRpq Fe™, YRG WK 3 B @ 3 o afifd

Tfed A R}, S 1 7GR, 2017 F AN ieh
a-faggq @ fofies, Jemer, I ww 7 g
gHeT & FWO H ST wf| 39 Gfufa @
ey, T q B 87

(@) <o Tdo o YU
(b) i YA TR AT
(c) i GefR wsperci
(d) #t dto o fam

75. F9eR 2017 #, Hifaa #§ duw <fEor oRmEm

Then weicw #, s @Y fFew 7 w&por 373
FAA8 7Y fhen #1 QR Sian | 39 feen &
&, ¥ & 9 &7

(@) I HTH
(b) s fea
() FHHM
(d) €fa e




71. Which one of the following Amendments 73. Which one of the following is India’s first

to the Constitution of India has indigenously designed and developed
prescribed that the Council of Ministers long-range subsonic cruise missile
shall not exceed 15 percent of total which can be deployed from multiple
number of members of the House of the platforms?

People or Legislative Assembly in the

States? (@) Astra

b) Akash
(a) 91st Amendment (b)

(c) Nirbhay
(b) 87th Amendment
(d) Shankhnaad

(c) 97th Amendment

74. The Ministry of Power, Government of
India has recently constituted a
Committee to investigate the causes of
the accident that occurred on 1Ist

(d) 90th Amendment

72. Which of the following about the role of November, 2017 at Feroze Gandhi
Indian Coast Guard is/are correct? Thermal Power Plant Ltd., Unchahar, in
Uttar Pradesh. Who among the following
1. Indian Coast Guard has been is the Chairman of the Committee?
entrusted with the offshore security
coordination authority (@) Dr. L. D. Papney
2. Lead intelligence agency for coastal (b) Shri Dhawal Prakash Antapurkar

and sea border (c) Shri Subir Chakraborty

3. Coastal security in territorial @ Shri P, D. Sival

waters
Select the correct answer using the code 75. In November 2017, an Indian short film,
given below. The School Bag won the Best Short Film

Award at the South Asian Film Festival
held at Montreal. Who among the

following is the Director of the film?
() 1 and 3 only :

(a) Anurag Kashyap
(b) 1,2 and 3
(b) Dheeraj Jindal
(c) 1 and 2 only (c) Sujoy Ghosh

(d) 3 only (d) Samvida Nanda
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77. 9 wa feem,

76. a9 2017 H, WRd H Wo Ho ) wW A

fogaam & & < fire I & s oimn
gearsht wieifrar (qRem sifRi Afgaim),
2017 % Ul ges Siar| 3= f=fafaa § @
Tra =t o fostan =ifta fomam T en?

(@) 48 kg

(b) 51 kg

(c) 54 kg

(d) 57 kg

2017 w1 fawg (w@m),
frfafad § @ #=-a1 27

(@) HaTd 3R Tered, Sfem % forg waa

() TR H @-9E (TEE) I ¥ WH
Bt &

(c) TR, Sfad 1 T 39 AR

(d) Tad, aiaris St 6 gREm

78. TEW wefed IffmARM (T&W), 2017 I

fosian, ¥ ¥ AW R7
(a) Toremsht s
(b) THo THo W
(c) T SRH

(d) =T gufid
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79. ‘FEf¥A (Barbarian) U8 ¥ WM & @R H,

Ffafaa woi & | FF-w1/3 wd 2/37

1. 98 M% ¥t ‘Feki¥ (barbaros) ¥ o
T R, T o R, w31

2. U < 39 Y2 1 YA S SHSTIE,
Tieq 3R O % forg #a A

= fow e e w1y R w9 3w g
(@) FFA 1

(b) FFA 2

(c) 1 3R 23H

(d F@M1IRAH 2

80. fr=feiRad ol § ¥ =-u1 vd) =& 27

(@) FAA-& 3 FH 7q & 9@ W A
qgaMd, WEgha & WHi@ uiesa B
@ -faea & w9 § 6 R

(b) HA-TEA % ITEAR, ATH-Gae FH
g, vt & F7-g7 % faga &
A o

() qHHd W, TSAM & Ya9 37Gd FS
TR W g ST 2

(d) AR % WY g F1 Fag I8 w3
F a' ure-TR ¥ fawew %
Togra @ warfera o)




76. In November 2017, India’s MC Mary Kom

won the gold medal at the Asian
Boxing Championship, 2017 held at
Ho Chi Minh City in Vietnam. In which
one of the following categories was she
declared winner?

(@) 48 kg

(b) 51 kg

(c) 54 kg

(d) 57 kg

77. Which one of the following is the theme of

the World Soil Day, 2017?
(a) Soils and pulses, a symbol for life

(b) Caring for the Planet starts from
the Ground

(c) Soils, a solid ground for life

(d) Soils, foundation for family farming

78. Who among the following is the winner of

the National Badminton Championship
(Men), 2017?

(a) Kidambi Srikanth
(b) H. S. Prannoy
(c) Ajay Jayaram

(d) Sai Praneeth
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79. Which of the following statements about

the usage of the term ‘barbarian’ is/are
correct?

1. It is derived from the Greek word
‘barbaros’ which means a
non-Greek.

2. Romans used the term for the
Germanic tribes, the Gauls and the
Huns.

Select the correct answer using the code
given below.

() 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

80. Which one of the following statements is

not correct?

(a) Al-Biruni identifies the Sufi

- doctrine of divine love as self-

annihilation with parallel passages
from Bhagavad Gita.

(b) According to Al-Biruni, Sufi
theories of Soul were similar to
those in Patanjali’s Yoga Sutra.

(c) The Hatha Yogic treatise Amrita
Kunda had lasting impact on
Sufism.

(d) Hujwiri’s conversation with the
Yogis shows that he was impressed
with their theory of the division of
the human body.

[ P.T.O.



81. F=feaiflad wem w fommr fifsie

“framl A gl Afus I i St R Ofe
ITH U JE YT oA * fow oft giew @
@t W =Tt 2

Tret sy § fREEt it @ % 9R § 39w
FoA T | Tha 0dE 9w & 27

(@) SHiTaEh Jeee

(b) SehrEE SR

(c) SfA-sufee zafim
(d) TreRrenst AgEh

82. WM, S TEIEdl 99 H TH WKl B, W

Tl wfefes faun =1 - == 27
(@ AR

(b) forma

(c) T

(d) =mesr

83. Tl YA & IR 3o Jayq & WA &H

97

(@) ITER
(b) FER
(c) HR

(d) ETEER

SPSS-D-XHI/49A

30

84. WRd 1 &N M F FHivE-wd w&i (TF) w

HE AR FH, FrfaRed & & H=-w1 7 27

(@) WAfEHe, ¥, WK, AR Fd, Fd,
fifem, ¥R o9, WA R4,
S

(b) WA JIHW, TGS WAGeAe, ThigH
e, fam wiet, qu e, TR FAER,
TR IAEE ARG, TR ARIE, TR 6w
T

(c) TR THW, TAIgE AfGede, ThigH
ey, 9 ¥, fam iR, TR FARK,
TR 939 9N, TR AEE, TR
I

(@) @& Affede, dffede, wftedie FAR,
HHTS, P, FHER, ReR wefira, age
Teiine, Tshird

85. WRd % He I & s #, fifeRaa wemi A

{ FH-91/Q w7 2/27
1. 98 9Rd @R &1 Yga fafty siftrerd
BT 2

2. 98 U% HUe "ed % famiwiiteRi & fau
FHER BT 2

3. 9% WHR & U TH QUiklcs T
(138 e 2

4, Igh EAd I B =RY, SIS
A F TH A w9 % o
ATETIF Bl B |

2 fow T g F WA AW wE IR AU
(@ 1, 23R 3

(b)) 23R 4

(c) Had 3

(d) FFd 1




81. Consider the following statement :

“So much is wrung from the peasants,
that even dry bread is scarcely left to fill
their stomachs.”

Who among the following European
travellers had made the above
statement about the condition of
peasantry in the Mughal Empire?

(a) Francisco Pelsaert
(b) -Francois Bernier
(c) Jean-Baptiste Tavernier

(d) Niccolao Manucci

82. What is the name of the literary genre

developed by the Khojas who are a
branch of the Ismaili sect?

(@) Ginan
(b) Ziyarat
(c) Raag

(d) Shahada

83. Who was/were the 10th century

composer(s) of the Nalayira Divya
Prabandham?

(a) Alvars
(b) Nayanars
(c) Appar

(d) Sambandar
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84. Which one of the following is not

a correct ascending order of
commissioned ranks in the defence
forces of India?

(a) Lieutenant, Captain, Major,
Lieutenant Colonel, Colonel,
Brigadier, Major General,

Lieutenant General, General

(b) Flying Officer, Flight Lieutenant,
Squadron Leader, Wing
Commander, Group Captain, Air
Commodore, Air Vice Marshal,
Air Marshal, Air Chief Marshal

(c) Flying Officer, Flight Lieutenant,
Squadron Leader, Group Captain,
Wing Commander, Air Commodore,
Air Vice Marshal, Air Marshal; Air
Chief Marshal

(d) Sub Lieutenant, Lieutenant,
Lieutenant Commander,
Commander, Captain, Commodore,
Rear Admiral, Vice Admiral,
Admiral

85. Which of the following statements about

Attorney General of India is/are not

correct?

1. He is the first Law Officer of the
Government of India.

2. He is entitled to the privileges of a
Member of the Parliament.

3. He is a whole-time counsel for the
Government.

4. He must have the same
qualifications as are required to be
a judge of the Supreme Court.

Select the correct answer using the code
given below.

(@ 1, 2 and 3

(b) 2 and 4
(c) 3 only
(d) 1 only

[ P.T.O.



86. fr=fafag # 4 form deiem rfufem & <=,

i 99 ¥ fyfeem =t wfiifea foran @ ean?
(@) 35a
(b) 36af
(c) 37ai

(d) 38at

87. F=fafad # & =-w1, T 3w, ) =erud’ %

Trgra =1 S1ger A g 1997 A = H T
Te =Y

(@) Tosa
(b) TN
(c) Toafsmm

(d) ATaiE TR

88. WRA % Tl & Hay #, Frfafad woi 4 4

HH-91 T8l A& 87

(@ W T T S e T R
Tehdl &

(b) STH-FTHR TSI &1 Y1 GfayH B)

(c) WRA H TA ) 9RG T A YUF B 6
iR &t &)

(d) Teg & dfmfeg § wee it ftewan
&1, fagm w9 % dewl B T wed
1 15 yfewrd 8 Fehdl B
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89. WRd HI T a=sia HE AT (NWAP), a8

2017-2031 & &R # fa=faigs FeAi ®
ﬁﬁﬂ(w:

1. 98 ded e s=sia o Qe )

2. NWAP fafire %, +if% wRa 3 vk
TR FASHEl W Feayg Rt § 9ed
I I9El § Gefta faeett w iR
foram 21

3. NWAP ¥ 36 W& ¢l

I § A PH-T1/A T T 2/37
(@ Fa9 1

(b) HadA 1 3R 2

(c) Had 2 3R 3

(d 1,23R3

90. 9§ 2015-2016 % SRH, WRd % {I=fAREd

TeaqUl (Y9) 3 A @ R T d 3IaA
gfg (sftrera &) omers @Y

(a) VT T4
(b) uiteRroft (Rpredl) Iume
(c) I

(d) R




86. Under which one of the following
Amendment Acts was Sikkim admitted
into the Union of India?

(@) 35th
(b) 36th
(c) 37th

(d 38th

87. Which one of the following became a part
of China in 1997 following the principle
of ‘one country, two systems’?

(a) Tibet
(bp) Hong Kong
(c) Xinjiang

(d) Inner Mongolia

88. Which one of the following statements in
respect of the States of India is not
correct?

(a) States in India cannot have their
own Constitutions.

(b) The State of Jammu and Kashmir
has its own Constitution.

(c) States in India do not have the
right to secede from the Union of
India.

(d) The maximum number of members
in the Council of Ministers of Delhi
can be 15 percent of the total
number of members in the
Legislative Assembly.
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89. Consider the following statements about
National Wildlife Action Plan (NWAP) of
India for 2017-2031 :

1. This is the Third National Wildlife
Action Plan.

2. The NWAP is unique as this is the
first time India has recognized the
concerns relating to climate change
impact on wildlife.

3. The NWAP has ten components.

Which of the statements given above
is/are correct?

() 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d 1,2 and 3

90. Growth in production (in percent) of
which one of the following core
industries in India during the period
2015-2016 was negative?

(@) Natural gas
(b) Refinery products
(c) Fertilizer

(d) Coal

[ P.T.O.



91. 3-fo, WRd WHR A THH -G AT

HaTd T Tehigha Ha1 giEiemT 8, i 31 frem
We WS (MMPs) &1 e R $-f,
Arnfies Hifa wd wads fawm, Titss @
I AT o @ R T § e g
Frifad hi <1 @ R7

(@) 2@ FHAH! qidas
(b) TR TFATE fdfies
(c) Tam

(d) HCL THarsig

q HH-91/4 w0 8/37

1. Tag & o SR 9 wsft g gt & 3
IR BI TR SR e H §

2. I WG, FAeoies IR f&e AEMER &
I 5eA | TEd B

3. ¥Rd ® ®RHSA qe, Affaa e wgsii
% fou w8 we wmRe seu (e
wd) 8l

= few T e T TE W A W g

(@ 1,233

(b) HaA 1 3R 2

(c) a2 R 3

(d) *Fad 1
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92. 3ifed fteat wgal & ar #, Frafafaa weAt §

34

93. f=fafan Fum w famr Hifs

T Y TR H Ao § UE TR S ere
TeA1 % s BT @ SR T IR H e
g g Y1 F forg AR @ 21"

ITdh FoF TerdehT W1 ST 87

(@) TER 9eH

(b) Taae s

(c) WETH et

(d) STA-uTEd

94. Hified Fwfl (TeRYTA) HT TEUUH, T A

B 917

(@) wETe TR

(b) W0 ARo g
(c) TEE FMR

(d) @t faasre

95. fasET R ww=g & T=nel g uififs wESE %

for 3w ffe S A W9 (SER) w1
e STl 417

(a) HEWaH fosa
(b) e HEA
(c) TSI THI
(@) TaEma

96. H-T TSI F faER, S grer USAH H YR

o1, 39 ¥ ford gt Ha g T Ued faefia
o T en?

(@) TRrETgd geaad

(b) TsmgER shfern

(c) T -3

(d) st ferear




91. eBiz is one of the integrated services

projects and part of the 31 Mission
Mode Projects (MMPs) under the
National e-Governance Plan of the
Government of India. eBiz is being
implemented under the guidance and
aegis of the Department of Industrial
Policy and Promotion, Ministry of
Commerce and Industry by

(a) Tata Consultancy Services
(b) Infosys Technologies Limited
(c) Wipro

(d) HCL Technologies

92. Which of the following statements about

the olive ridley turtles is/are correct?

1. They are the smallest and most
abundant of all sea turtles found in
the world.

2. They live in warm waters of Pacific,
Atlantic and Indian Oceans.

3. The Coromandel Coast in India is
the largest mass nesting site for the
olive ridley turtles.

Select the correct answer using the code
given below.

(@ 1,2 and 3
(b) 1 and 2 only
() 2 and 3 only

(d) 1 only
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93. Consider the following statement :

“A sound body means one which bends
itself to the spirit and is always a ready
instrument at its service.”

The above statement is attributed to

(a) Sardar Patel
(b) Winston Churchill
(c) Mahatma Gandhi
(d) Baden-Powell

94, Who among the following was the

founder of Phoenix Settlement?
(a) Mahatma Gandhi

(b) B. R. Ambedkar

(c) Rabindranath Tagore

(d) Swami Vivekananda

Name the platform used for ritual

purposes by the
Vijayanagara Empire.

kings of the

() Mahanavami Dibba
(b) Lotus Mahal
(c) Hazara Rama

(d) Virupaksha

96. The idea of ‘Farr-i Izadi’, on which the

Mughal kingship was based, was first
developed by which one of the following
Sufi saints?

(a) Shihabuddin Suhrawardi
(b) Nizamuddin Auliya

(c) Ibn al-Arabi

(d) Bayazid Bistami

[ P.T.O.



97. fa g yw-uv 4, 99 wE S w1 fEw 101. frfafad semsdt § § -6 wF weT 3w

THIfEd 87 gfed 89 % a9 % |1y | gafera e 77

(a) fa77 fiess

(b) E fiew (@) T siodfm fify s Wi
(c) 3Tfemy fies Jurelt SWIFT &1 YRY—1985

(d) TETarET

(b)) GATT & 35 ER &1 GHIY—1994
98. WRA & g WUl & 9N N, FrafeRaa weqi & @

H-T 8 T 27 (c) Tau =R e F IgERA—1995
(@) &9 YA H ToeH H AH § I A - i
T Hewg st ARl (d) ¥ Tia: TR IR TSR (FTdeT)
b) 3 ge R v TR b R 1971
MgH (WSR) A
(c) A arfio et # fRE )
(d) A ATIR-TT % ot g ) 102. WRd-fossa #@™ gfe@ (ITBP) & R ¥,
Frefefaa Hemt ® fm i

99, yd % f=fiad Tl & ¥ form v=w A Rum
[T & Hiel i g gaifees 27
(a) W ST 2. ITBP Hgid: T Ydq SRIiEd 9 2|
(b) TR 3. Taftem iR srwmae wow § ¥ Em %
@ 2004-2005 # EH USHeE H

1. ITBP, 1962 ¥ &4 |

(c) TS TeW
T8 ITBP & @1 41|
d) dafeTg
(@ 4. S@9M ¥ ITBP % 52 fawrfm (Jan)
100. HPARY TAW H To9Ued 1 WRe F an #, J
Frfafaa wudi § @ S=-uw1/2 a8 2/37
1 el e I F A FH-A HUH G B7

2. Toell ft T sreacw 1 9 on ¥ forg

w@E T ot vam T8 2 (@ ¥ 1, 2 3R 4
= fog 7T F2 F W& W w9 W gRTy P
(@ Fad 1
(b) FHaA 2 ¢ 1,2, 33R4
(c) 1323
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97. Which Buddhist text contains an account
of the Mauryan Emperor Ashoka?

(a) Vinaya Pitaka

(b) Sutta Pitaka

(c) Abhidhamma Pitaka
(d) Mahavamsa

98. Which one of the following statements
about Buddhist Stupas in India is not
correct?

(a) Ashoka played an important role in
popularizing the Stupa cult.

(b) They were repositories of relics of
Buddha and other monks.

(c) They were located in rural areas.

(d) They were located close to trade
routes.

99. Which one among the following States of
India has the largest number of seats in
its Legislative Assembly?

(a) West Bengal

(b) Bihar

(c) Madhya Pradesh
(d) Tamil Nadu

100. Which of the following statements about
the Ordinance-making power of the
Governor is/are correct?

1. It is a discretionary power.

2. The Governor himself is not
competent to  withdraw  the
Ordinance at any time.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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101. Which one of the following events is not
correctly matched with the year in
which it happened?

(@)

(b)

(©)

(@)

Inauguration of the SWIFT system
of electronic interbank fund
transfers worldwide—1985

Conclusion of the Uruguay Round
of GATT—1994

Inauguration of the World Trade
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